ECUACIONES EXPONENCIALES

22:—1 =<
Z2x-1 2 3
2 =2 2x—-1=2 X ==
2
2x—1ﬂ3x—3 - ﬁ
x-3 = x-3 3 3
32::—1 = 32 = __ = — -
ox-1 2 *T77

2x+l +2x +2x—l =28

Ex
2¥2+2% + — =28
+ + 5

1
2 [2+1+2|-28
212)

2"-3=28 2% =28 X =3
2
2-3%4+3"*1 =0

2—i+3-3" =0
3::

3=t
2-Lizu_o
t
3tE+2t-1=0
t, =-1 3*=-1 s5in solucion

1

3% ¥ =-1

L] =



21—)(1 - 1
3
plx® _ 93 1-x2=-3; x%=4 X = +2
8% = 65536
x
(2°)% = 28 x =16
4% 8% _ 16384
SA-er) _ s %2125 =14 X2 —6x-7 =0
4'\@ _ 2Jm+2 — D
2oHAL _ popedlHZ 2 41 = o +1 42
» =13
31 =134
log3* ! 2 log134
[xz - l)IDQB -log134
2 1109134 _ 4 4582 x2 - 5.4582 x = 12.336
log3
3Lox 3% 23
33_x_3x =2 3 =t
t = 1 SX = 1 = D
2 426-3-0 1 X
t, = -3 3% = _3 7



ex——+%:ﬂ e _5e?¥ +4-0 e =t
e’ e
, =1 % =1 x =0
t"-5+4=0
o= e? =4 Ine® =In4 _In4
2
471 4242 _ 48
2%
PEXTE L YT _ 48 24 + 4.2 -48=0 t=2*
¥

t
t2 +16r-192 =0 {

8=2" x=3

SISTEMAS DE ECUACIONES EXPONENCIALES

3 -2 =1

F1=2v? 41

FF-2Y=1

3% ¥ 3 =u 2¥ =v

= _Z 1

3 |
— Dy =

N Y =9 v =23

dqu -3y =12

3% =9 X =2 2' =8 Yy o= 3

5%.2% =% 5% .52y _ 57 Sx+2p _ o7

23‘5_1 ) 2}""2 — 64 2::—1 ,2}-+2 = 25 2x—1+y+2 = 25
X +2y =7

X-1+y+2=0 xX=73 y=2



